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	1. Streiber Publishing Company

	Streiber Publishing Company, an all-equity firm, generates perpetual earning before interest and taxes (EBIT) of $2.5 million per year.  Streiber’s after-tax, all-equity discount rate is 20 percent and rB = 10%.  The company’s tax rate is 34 percent.

a) What is the value of Streiber Publishing?

b) If Streiber adjusts its capital structure to include $600,000 of debt, what is the value of the firm?

c) What is the rs?

d) What is the WACC after the increase in leverage?

e) What are key factors limiting the use of debt in the capital structure?


	2. Kongpao Industries (KI) 

	Kongpao Industries (KI) wishes to estimate its cost of capital for use in analyzing projects that are similar to those that already exist. The firm’s current capital structure, in terms of market value, includes 40 percent debt and 60 percent common stock. The firm’s debt has an average yield-to-maturity of 8.3 percent. KI’s beta is 1.05, the risk-free rate is 4 percent, and the return on the S&P 500 (the market proxy) is 11.4 percent. KI is in the 40 percent marginal tax bracket.
a) What are KI’s cost of debt and common stock?
b) Calculate KI’s weighted average cost of capital (WACC) on an after-tax basis.

c) KI is contemplating a major investment that is expected to increase both its operating and financial leverage. Its new capital structure will contain 50 percent debt and 50 percent common stock. As a result of the proposed investment, the firm’s average yield-to-maturity on debt is expected to increase to 9 percent and its beta is expected to rise to 1.15. What effect will this investment have on KI’s WACC? Explain your finding.




	3. The Simon Corporation

	The Simon Corporation is considering a new product. An outlay of $2 million is required for equipment to produce the new product, and additional net working capital of $100,000 is required to support production and marketing.  The equipment will be depreciated on a straight-line basis to a zero book value over eight years.  Although the depreciable life is eight years, the project is expected to have a productive life of only six years, and it will have a salvage value of zero at that time. Revenues minus expenses for the first two years of the project will be $0.5 million per year but, because of competition, revenues minus expenses in years 3 through 6 will be only $0.4 million.  The cost of capital for Simon is 11%, and the relevant tax rate is 35%. The other producers of the new product have an equity beta of 1.4, the riskfree rate equals 5 percent, and the market risk premium is 6%.  These other companies have a debt-to-equity ratio of 50 percent, which Simon’s management believes is appropriate for this project. Compute the NPV of Simon’s new product.




	4. Sora Indusries
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 

	Sora Industries has 60 million outstanding shares, $120 million in debt, $40 million in cash, and the following projected free cash flow for the next four years:

	 
	 
	 
	 
	 
	 
	 

	 
	 
	Year
	0
	1
	2
	3
	4

	Earnings and FCF Forecast ($ million)
	 
	 
	 
	 
	 
	 

	1
	Sales
	 
	433.0 
	468.0 
	516.0 
	547.0 
	574.3 

	2
	Growth versus Prior Year
	 
	 
	8.1%
	10.3%
	6.0%
	5.0%

	3
	Cost of Goods Sold
	 
	 
	(313.6)
	(345.7)
	(366.5)
	(384.8)

	4
	Gross Profit
	 
	 
	154.4 
	170.3 
	180.5 
	189.5 

	5
	Selling, General, and Administrative
	 
	 
	(93.6)
	(103.2)
	(109.4)
	(114.9)

	6
	Depreciation
	 
	 
	(7.0)
	(7.5)
	(9.0)
	(9.5)

	7
	EBIT
	 
	 
	53.8 
	59.6 
	62.1 
	65.2 

	8
	Less:  Income Tax at 40%
	 
	 
	(21.5)
	(23.8)
	(24.8)
	(26.1)

	9
	Plus:  Depreciation
	 
	 
	7.0 
	7.5 
	9.0 
	9.5 

	10
	Less:  Capital Expenditures
	 
	 
	(7.7)
	(10.0)
	(9.9)
	(10.4)

	11
	Less:  Increase in NWC
	 
	 
	(6.3)
	(8.6)
	(5.6)
	(4.9)

	12
	Free Cash Flow
	 
	 
	25.3 
	24.6 
	30.8 
	33.3 

	a.
	Suppose Sora’s revenue and free cash flow are expected to grow at a 5% rate beyond year 4. If Sora’s  weighted average cost of capital is 10%, what is the value of Sora’s stock based on this information?

	b.
	Sora’s cost of goods sold was assumed to be 67% of sales. If its cost of goods sold is actually 70% of sales, how would the estimate of the stock’s value change?

	c.
	Let’s return to the assumptions of part (a) and suppose Sora can maintain its cost of goods sold at 67% of sales. However, now suppose Sora reduces its selling, general, and administrative expenses from 20% of sales to 16% of sales. What stock price would you estimate now? (Assume no other expenses, except taxes, are affected.)

	d.
	Sora’s net working capital needs were estimated to be 18% of sales (which is their current level in year 0). If Sora can reduce this requirement to 12% of sales starting in year 1, but all other assumptions remain as in part (a), what stock price do you estimate for Sora? (Hint: This change will have the largest impact on Sora’s free cash flow in year 1.)
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